Rationalising Surds (1)

Mr Lund
Maths
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Rationalising Surds (1)

1. State whether each is true or false.

)l:Q b)l:ﬂ
2 V2 777
_2)3 5 _5/6

RSE S VE="
_10/6

e)E——

Write the correct answer for any false

statements.

2. Rationalise and simplify

1 5
) 73 °) 77
2 3
76 )7
e) —4
J6
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Rationalising Surds (1)

3. a) Rationalise

2 =M

p) Find the missing values.

2 272

c) Rationalise and simplify.

2

V2

4. Rationalise

5/3_ 53 V2_
2V2 227 2

5. Express 8V3 i the form avb

2V2

Where a and b are integers.

6. Show that % is equal to %
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Answers
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Rationalising Surds (1)

1. State whether each is true or false.

1 V2 V2 1 _VJ7
1 _2J3_76 5 _5/6
)f Of True, but simplifies to :7/)6

2. Rationalise and simplify

a)%zg

0) 2 _2/6 _J6
/6 6 3
4 _ 46 _2J6
)f 6 3

5V7

) 5= 7
a3 _3J6 _J6
/6 6 2
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Rationalising Surds (1)

3 a) Rationalise

2+\/ﬁ:%ﬁ

b) Find the missing values

33f3f

2 222

c) Rationalise and simplify

= V2

4. Rationalise

5J’5J’£¢€

22 22 2 4

5. Express 8Y3 in the form avb

2V2

Where a and b are integers.

=26

6. Show that 310, Is equal to ==

42

3J_ V2 3@_6\/__3\/_
22 \/_glves 5 -8 -4

3f
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